s I

B - EER ITHE TR R AT H
e 7 5 1 it 5 8] 0 B B
T = 4% HEREREEIE

#

(& 7 %) (8 & Bl ) (& b
T % % X _
THE 1=230.5m
-+ —= Pk T —=X < AREET A=9427 WET —RK

rigH AR




SR T

B & 7%
% B - I M Bl F i E| i+ =R va H fii & #H B BT 2 B i
THEH
1 =
AT EHEE
1 =
BRI E T.H01
1 =
&t

N

=




SR T

AL HF O AN R OF

%# B - T f&E - F OB - M B # i+ BN H il 4 #H B BT 2 B
Tk R TH01
1 =
+T
! A W1
BEAK T
! A W25
HEET
1 = e 35
WET
! A W4
el
1 = B 5 5
[EREEBE - aa
I B E
1 =
I (1)
1 =
Ml B Ry
1 =
T
1 =
Bl E ety
1 =

N

£



SR T

AL HF O AN R OF

%# B - T f&E - F OB - M B e i+ =R va H fii & #H B BT 2 B
T 555
1 =
— R B
1 =
T H Al kS
1 =
NEE=gink Yy |
1 =
&t

N

£



SR T

(% 1% UE ]

+L I L
£ wooe H#l & 5e & ==X VA H i & #H B BT 2 B fii G2
PEHI A7 by b
+#> 50, 000m3 A 498 m3 P 1%
RIE D
T FEAE 50 m3 P 2%
HEL
e KR ImA it 26 m3 P 3£
D E R
FEUE Ny Ry 1LFS0. 8m3 CEFEO. 6m3) +-#) 519 m3 P 4%
Bl
752 AU C LB 519 m3 P 5%
#t

aQ
o
+



SR T

[ % 2% WU ]

HEk T A %y
4 77/ I -} &= ==X VA il 4 % B BT 2 B fii

U B PR
(T-25) PU4-B300-H300 12000 54 m )i =2
U BUARERAF
(T-25-7" VE£T) PU4G-B300-H300 L1000 5 m it 2
U B PR
(T-25) PU4-B300-H400 12000 140 m )i =
U B PR
(T-25-7" VZ4T) PU4G-B300-H400 L1000 13 m it 2
ESSiER
T 25 (T-25) PC8-B300 389 K i =
PUIE ALV
300 X 400 9 ey B =
U BUAREYRAF
(T-25-7" VZ£T) PU3G-B300-H400 12000 5 m it k2
5B BB
300 X 400 12 m B 3=
18 B BB
300 X 500 12 m B =2
ESSiER
H B AE 85300 HL=500 20 % )i B
ESSiR
Hhak /v %i@300/HL=1000 2 K #& =
45K

1 I B k2

N

=t




SR T

[ % 2 5 BfE ] (e =)
HEk T 1 H %y
£ o i 5e & ==X VA i & #H B BT 2 B fii E2
55K
1 L H 5 &
145 27K Mk
1 I Ho6 &
1555 7K
1 I HOO7T 5
16522 7K Mk
1 L Ho 8 &
FRTIRG L4 A
[1300mm 14 m P 6 =
VP& 300
2 m

N

=




SR T

[ % 3 7% WimE ]

4T A A
£ wooe H#l & & ==X VA i & #H B BT 2 B fii
g (s - EE0) JE35mmEL |- 45mmA i
AR BET A2y (13) 942 m2 P 7%
b J A (EE - B JE D)
75mm% #8 . 125mmEL T 888 m2 P 8 &
R 1
Fefq JKALER + 309 m3 H 9 5
#t

N

=




SR T

[ % 4% UE ]

kT H %y
£ o i & ==X VA i & #H B BT 2 B fii
TAT7 Vb
1 = HoO10 &
2T =
1 = HoOo11 5
gfpavs)-b
1 = HoO12 5

f

N

=



SR T

[ % 5 7% W& ]
LR B
4 PR B £ HLAL il ko il P Bt 3 75 fii
A28 fi BB
A

=113

aQ
B
+




ERGRETHE
[ % 1 5 Bm* ]
PURRE AL D 300 X 400

1 (EEIER

£ wooe H#l & 2 & ==X VA B i & #H B BT 2 B fii G2
U BUAEYR (S
(T-25) FEAEME » PUZE-B300-H400 2:82 m W9 &
ESSiR
3% 2 (T-25) PCHEI-B300 4 P W10 &
#t
BAfrY4 720

aQ
=
&

10



SR T

[ % 2% Hffiz ]

+84 B A EE 300 X 400 10 m 49
4 wooe H#l & & ==X VA H il & #H B BT 2 B fii
M & R
1i5 m2 B3 &
a7 U—F
PR - SR RE Y 24-8-25(20) (FHF) 0:75 m3 P 9%
Hay))-h
24-8-20 %25 (B 47) W/CH5%LL T 0:435 m3
BRAn T OREBRERA & Te) it THIF10t AT
IR (— i EY) 0:046 t a1l &
B A B
L=2000mm 1000kg/{iE LL T 10 m o112 =
#t
BAfLY4 720
1THE™

11




SR T

[ % 3 7% Hffik ]

+84 B B AEE 300 X 500 10 m 49
4 wooe H#l & & ==X VA H il & #H B BT 2 B fii
M & R
1i5 m2 B3 &
a7 U—F
PR - SR RE Y 24-8-25(20) (FHF) 0:75 m3 P 9%
Hay))-h
24-8-20 %25 (B 47) W/CH5%LL T 0:435 m3
BRAn T OREBRERA & Te) it THIF10t AT
IR (— i EY) 0:046 t a1l &
B A B
L=2000mm 1000kg/{iE LL T 10 m W 13 =
#t
BAfLY4 720
1THE™

12




SR T

[ % 4% Bk ]

ALK 1 Er )
4 77/ I -} ¥ 5e &7 AL H il 4 % B BT 2 B i =
BUAGHT B A K - It ORIR)
0. 34#80. 36m3LA N — % - Rk L (BUR) 1 & P 10 &
P y=Fr0 (125 KV MEE)
605 X 605 X 65 1 %
it
ALY 2D

aQ
o
+

13



SR T

[ % 5 7% Hffiz ]

552 KAk Er )
4 77/ I -} ¥ &= AL it 4 % B BT 2 B i
G
12. 5cmitB17. 5emBA T 0:81 m2 P 11 &
Tl f
— IR ERAR - MRS 3:34 m2 P 12 &
a7 U—F
HEF - BEATHEEY) 18-8-25 FW/C60% LA T 0:26 m3 P 13 &
P u=Fur (125 K v MEE)
605 X 605 X 65 1 %
it
BALY 2D
1THE T

14



SR T

[ % 6 7% Hffiz ]

14 54K it #H 4y

4 77/ I -} ¥ &= AL il 4 % B BT 2 B i
G
12. 5cmitB17. 5emBA T 0:81 m2 P 11 &
Tl f
— IR ERAR - MRS 3:76 m2 P 12 &
a7 U—F
HEF - BEATHEEY) 18-8-25 FW/C60% LA T 0:27 m3 P 13 &
P u=Fur (125 K v MEE)
605 X 605 X 65 1 %

it
BALY 2D
1THE T

15



SR T

[ % 7% Hfig ]

15 54K it #H 4y

4 77/ I -} ¥ &= AL il 4 % B BT 2 B i
G
12. 5cmitB17. 5emBA T 0:81 m2 P 11 &
Tl f
— IR ERAR - MRS 3:83 m2 P 12 &
a7 U—F
HEF - BEATHEEY) 18-8-25 FW/C60% LA T 0:29 m3 P 13 &
P u=Fur (125 K v MEE)
605 X 605 X 65 1 %

it
BALY 2D
1THE T

16



SR T

[ % 8 7% Hiffik ]

16 54K it #H 4y

4 77/ I -} ¥ &= AL il 4 % B BT 2 B i
G
12. 5cmitB17. 5emBA T 0:81 m2 P 11 &
Tl f
— IR ERAR - MRS 3:34 m2 P 12 &
a7 U—F
HEF - BEATHEEY) 18-8-25 FW/C60% LA T 0:26 m3 P 13 &
P u=Fur (125 K v MEE)
605 X 605 X 65 1 %

it
BALY 2D
1THE T

17



SR T

[ % 9 7% Hffik ]

PR A% 1 Fefq JRALER 1 1 m3 %49
4 77/ I -} & ==X VA H il 4 #H B BT 2 B fii
P& PR % 1
4, 0omPA b 10, 000m3 AR5 [ 25 4% 1 m3 P 14 &
Fefi[KIEA
% 5+-CBR90% 1i41 m3
#t
BAfrY4 720
1THE™

18




SR T

[ % 10 %5 Hffiz ]

TAT 7 b 1 X By
4 77/ ST <) ¥ e &7 AL H it & % B BT 2 B i =
EEE R B
TAT 7V MEBEERR 15emBL 26 m P 15 &
15 7K ALER
1 m3
15 VR Pk B IE
TEH R A 25km 1 m3 fE 14 &
Sl R A
TAT 7V MEEERR B 10embl 910 m2 P 16 &
P S FEEEY) R R LERELT 27 70 b (R
(Z ) RER BN (178 AR 45 m3
M i 2 R e
Rk (B X SRR 2 J= 15emlL ) 45 m3 P 17 &
it
BALY 2D

aQ
)
+

19



SR T

[ % 11 %5 H{fiz ]

20

HEFF 27— ] X By
4 77/ ST <) 7 AL H it & %4 B BT 2 B i
iEmE D ZbL
FMOhE T. HEATRE &Y e T B 1 0m3A I 5 m3 i 15 &
POERE Co (MRS -8R MEEM E D Zb L
R 1A 5 m3 P 18 &
PESEFEEEY) P R LRk ) ) - b (BERS)
(Z ) RER BN (1TB AR 5 m3
&t
BAfr4 720
1THE T



SR T

[ % 12 %5 Hiffiz ]

21

rfmiav ) —h X By
4 77/ ST <) 7 AL H it & %4 B BT 2 B i
iEmE D ZbL
FMOhE T. SRAnAE &Y e T B 10m3A I 0 m3 i 16 &
POERE Co (MRS -8R MEEM E D Zb L
R 1A 0 m3 P 18 &
PESEFEEEY) P R ALEREL Y ) ) - (B S)
(Z ) RER BN (1TB AR 0 m3
&t
BAfr4 720
1THE T



SR T

[ % 13 75 Hiffi ]

I & IR 1 m2 %4 b
4 77/ I -} & 5e A ==X VA H il 4 % B BT 2 B fii G2
pithe
— R ERAR - AR S 1 m2 P 12 &
7t
BAfrY4 720

aQ
o
+

22




